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XSk SIX A HAPSXIO| MET|E (A48=2A45F =)

1 AEA S A g AxE v 4 B9 A% w2 Aed

A el §1x18keof gt

bomae] M5 A w A% AAM

A WA A AAA
T2 x v T A A
W1 0.310 0.348 = AAA(W12) y = 0.150 + 0.640x
W2 0.453 0.440 e AMAFAN(W23) = 0.440
W3 0.500 0.440 A7 A (W34) x = 0.500
W4 0.500 0.382 HAAFAMAA (W45) | v = 0.382
W5 0.443 0.382 A} M 73 A (W56) y = 0.050 + 0.750x
w6 0.310 0.283 A A(W61) x = 0.310
oA Aw @A g AE AAA
A% AR A& AAA
T X y T N AA
SY1 0.454 0.486 =AM AA(SY12) y = 1.290x — 0.100
SY2 0.480 0.519 32 (SY23)
SY3 0.545 0.454 2| A 73 A (SY34) y = 0.138 + 0.580x
SY4 0.521 0.440 AN A (SY45) = 0.440
SY5 0.500 0.440 W73 A (SY51) = 0.940 — x
o subdo] A wxbyg W AT FAXA
A WA M FAAA
T X y T AN A
Al 0.545 0.425 =M AA (A12) vy = x — 0.120
A2 0.560 0.440 32 (A23)
A3 0.609 0.390 27 A (A34) y = 0.390
A4 0.597 0.390 WA A (A41) y = 0.790 — 0.670x




BT WA A A
. X y T M A
R1 0.645 0.335 SAAA(RLI2) | v = 0.335
R2 0.665 0.335 3 AA (R23)

R3 0.735 0.265 AFF A (R34)  [0]9] Bt s 7pzA=
=AM
A=A A (R4
R4 0.721 0.259 v = 0.980 — x
1)

2. B PR Al Yg AEi vhe 7 Bo A% way 9 Ay
AR el 911 skolok Bk,

7k HEAREA 9] ozt M) E
A= A
L

D) mae] A A gl A G

R s A A
T X y T A= A
W1 0.373 0.402 HAAA(W12) y = 0.843 — 1.182x
W2 0.417 0.350 BN G A (W23) y = 0.489x + 0.146
W3 0.548 0.414 A A (W34) y = 0.968 — 1.010x
W4 0.450 0.513 = AMAA (W41) y = 1.442x — 0.136

A WA A% A
T & X y T BE A
Y1 0.505 0.465 S AMZA(Y12) y = x — 0.040
Y2 0.520 0.480 WA A (Y23)
Y3 0.610 0.390 AR A (Y34) y = 0.200x + 0.268
Y4 0.585 0.385 WA (Y41) y = 0.970 - x

3) supale)l Aw @AH 9 AL AAA




A g aA A AAA
T X v T A AA
Al 0.545 0.425 A A (A12) v = 1.417x — 0.347
A2 0.557 0.442 3 AA (A23)
A3 0.609 0.390 2 AW A7 (A34) = 0.390
A4 0.597 0.390 WA A (A41) = 0.790 — 0.670x
4) A Mx gAY AR AAL
A% WA A A
T X y T AT A
R1 0.643 0.335 SAAA(R12) y = 0.335
R2 0.665 0.335 =44 (R23)
R3 0.735 0.265 A2 4 (R34)
R4 0.720 0.258 A=A (R41) |y = 0978 — x
o WA O] 3 AT E
D) wae] A A gl A G A
At wAHg Aw AAA
T & X y T A A
W1 0.300 0.270 BEAAA(W12) |y = x — 0.030
W2 0.385 0.355 SHAAA(W23) y = 0.740 — x
W3 0.345 0.395 = A A (W34) y = x + 0.050
W4 0.260 0.310 HAAA(W41) y = 0.570 — x
2) Ao AL A 9 AL A
A 7R M5 A
T 5 X v T M AA
Y1 0.545 0.454 ZAMAA(Y12) y = 0.534x + 0.163
Y2 0.487 0.423 WA A A (Y23) y = 0.910 — x
Y3 0.427 0.483 A AA (Y34) y = 1.342x — 0.090
Y4 0.465 0.534 =FAA(Y41)
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